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gooon

» OO0

» 0000000 (syslog APIDODOOO)
» DO0O0O00oboo

gooooooon

» JO0O000OO0O0bOobobobobooboo

» J0O00DOO0O0bOoOobOoboboo

» JO0O00DbOo0obobbobboobboobon
RRD (Round Robin Database)

» DO0000D0O00O000O0bO0O00oOOoboOoo0ooon
» O0: 50000 1000200000 100010000 10O
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» web server access log
» mail log
» DHCP server log

» syslog
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web server access log

O

» Apache Common Log Format
> client_IP client_ID user_ID time request status_code size
» Apache Combined Log Format
» Common Log Format O referer O User-agent 0 O O
» client_IP client_ID user_ID time request status_code size
referer user-agent
» 000 0D000o0ogad

client_IP: 000000 IPOOODO

client_ID: OJOOOOODODOODO

user_ID: JOOOOO

time: 00O

request: JOO00OOO0OOOO

status_code: OO0OOOO0OOO0O

size: DO00OD0OOD0 (DODOOOOOO) oODoOooOoOm-n
referer: JOO0O0OOOOOO

user-agent: 00000000000 OOOOOOO0OO

Combined Log Format:

127.0.0.1 - frank [10/0ct/2000:13:55:36 -0700] \

"GET /apache_pb.gif HTTP/1.0" 200 2326 \
"http://www.example.com/start.html" \
"Mozilla/4.08 [en] (Win98; I ;Nav)"
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mail log

0000000 ooOooooooooooooo
0:

Oct 27 13:32:54 server3 sm-mta[24510]: m9R4WsBe024510:\
from=<client@example.com>, size=2403, class=0, nrcpts=1 \
msgid=<201012121547.0BCF1PX6032787@example.com>, \
proto=ESMTP, daemon=MTA, relay=mail.example.co.jp [192.0.2.1] \

Oct 27 14:43:04 server3 sm-mta[24511]: m9R4WsBe024510: \
to=<user@example.co.jp>, delay=01:10:10 xdelay=00:00:00, \
mailer=local, pri=32599, dsn=2.0.0, stat=Sent

> 00

> 0ooo

> 00000000 [0ooooo)

» Queue ID: DODOOOO ID

> ..

> nrepts: 0000

> relay: 0O0OO0O0OOOO

» dsn: Delivery Status Notification, RFC3463

» 2 X.X:Success, 4.X.X:Persistent Transient Failure,
5.X.X:Permanent Failure
» stat: Message Status
» Sent, Deferred, Bounced, etc
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DHCP server log

SYSLOG: 00000000

Oct 28 15:04:32 server33 dhcpd: DHCPDISCOVER from 00:23:df:ff:a8:a7 via ethO
Oct 28 15:04:32 server33 dhcpd: DHCPOFFER on 192.168.2.101 \
to 00:23:df:ff:a8:a7 via ethO
Oct 28 15:04:32 server33 dhcpd: DHCPREQUEST for 192.168.2.101 \
from 00:23:df:ff:a8:a7 via ethO
Oct 28 15:04:32 server33 dhcpd: DHCPACK on 192.168.2.101 \
to 00:23:df:ff:a8:a7 via ethO
Oct 28 15:09:32 server33 dhcpd: DHCPREQUEST for 192.168.2.101 \
from 00:23:df:ff:a8:a7 via ethO
Oct 28 15:09:32 server33 dhcpd: DHCPACK on 192.168.2.101 \
to 00:23:df:ff:a8:a7 via ethO

dhcpd.leases: DOOO0 IPODOOOOOOOO

lease 192.168.100.161 {
starts 4 2010/12/09 23:13:39;
ends 5 2010/12/10 00:13:39;
tstp 5 2010/12/10 00:13:39;
binding state free;
hardware ethernet 5c:26:0a:17:06:00;
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syslog

» UNIXO OSOODODOOO0OO0O0oOooDoOooooooogogo

» 00000000 0DbO00C00ObO0bO0000bOo0o0oo
oood

» 00000000000

» DO0O0000O00000O0000000d0

» Windows Event Log
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goooon

» JO0O0Ooooooooobooooboo
» JOogoboobobbobooboaobodaod

>DDDDDDDDDDDDDDDDDD(grep,sort,uniq,
sed, awk, etc)
» JO0O00000O000O00O00O00OO0O

» OO0 obooooooooooobn
» DO00000O00000O0bOO0O0o0oOoobOOoon
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» 0000000 ob0oo0oboobobooboooooboono
oo

» 00000000000 bOO00O0O0O00000
gogooooooon

» 00000000000
gooobooogn
oooobooogn
oooooooooogo
dooooooobobobboooood
goboobobooobooooo

» DO0O0O000OO00od
» J0OO00DbO0o0bOob0bobobooboon

ggooooooobon
» DO0O0O0O00O0boooog
» DO0O0o0ooOobooog
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» 0000

» 00O

» OO0

» 00O

» 0OOO00Od
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Web access log 0 O OO OO0

» SFCITCOOODODOSFCOO webOODODOOOOOOOO
» SFC-SFSOOO00O0O0ODOO0O0
» weblog-20110228-20110306.txt.zip (4.6MB 0O O O 48MB)

» OO0 ooooooogga
» 00000000 00bO00000Od

» JO0O00O0o0ooooooon
» 000000 ooooooooo
» 00000000 (DO0D0)0D00OSFCO00UooOoOn
od
» J00000000D00O00DO0DOO0DOO0OO0DOODOOn
00

» 0000000 DOO00oooooooooa
» IPODO0OOOODO (101000000prefix0000)
» apache common log format ("referer”, "user-agent” 0 0 O )
» remote login name (%l), remote user (%u) OO O
» JO00O0000000 ("search.html?’0000000O0O)
» J00000D0000000000000 ("user'd )
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goooobbod

52.99.79.208 - - [28/Feb/2011:00:00:04 +0900] "GET /top.html HTTP/1.1" 200 9947

178.194.177.22 - - [28/Feb/2011:00:00:05 +0900] "GET / HTTP/1.1" 304 -

178.194.177.22 - - [28/Feb/2011:00:00:05 +0900] "GET /images/pen.gif HTTP/1.1" 304 -
178.194.177.22 - - [28/Feb/2011:00:00:05 +0900] "GET /images/keiou.gif HTTP/1.1" 304 -
178.194.177.22 - - [28/Feb/2011:00:00:05 +0900] "GET /images/copy.gif HTTP/1.1" 304 -
178.194.177.22 - - [28/Feb/2011:00:00:07 +0900] "GET /flash/ HTTP/1.1" 200 3269

174.177.94.5 - - [28/Feb/2011:00:00:08 +0900] "OPTIONS * HTTP/1.0" 200 -

52.99.79.208 - - [28/Feb/2011:00:00:08 +0900] "GET /alumni/ HTTP/1.1" 200 6366

178.194.177.22 - - [28/Feb/2011:00:00:09 +0900] "GET /top.html HTTP/1.1" 200 9947

52.99.79.208 - - [28/Feb/2011:00:00:09 +0900] "GET /students_soukan/ HTTP/1.1" 200 9836
233.41.145.151 - - [28/Feb/2011:00:00:12 +0900] "GET /academics/undergraduate/ei/faculty.html HTTP/1.1" 2
67.127.37.169 - - [28/Feb/2011:00:00:14 +0900] "GET /en/aboutsite.html HTTP/1.0" 200 7606
52.99.79.208 - - [28/Feb/2011:00:00:14 +0900] "GET /alumni/certificates.html HTTP/1.1" 200 5993
98.37.193.251 - - [28/Feb/2011:00:00:14 +0900] "GET / HTTP/1.0" 200 2048

100.104.153.171 - - [28/Feb/2011:00:00:15 +0900] "GET /academics/graduate/ HTTP/1.1" 200 9274
66.187.123.187 - - [28/Feb/2011:00:00:15 +0900] "GET /academics/graduate/dd.html HTTP/1.1" 304 -
100.104.153.171 - - [28/Feb/2011:00:00:15 +0900] "GET /css/main.css HTTP/1.1" 200 11373
99.67.3.2561 - - [28/Feb/2011:00:00:16 +0900] "GET /about_sfc/facts/index.html HTTP/1.1" 200 5834
174.177.94.5 - - [28/Feb/2011:00:00:17 +0900] "OPTIONS * HTTP/1.0" 200 -

67.127.37.169 - - [28/Feb/2011:00:00:17 +0900] "GET /news/20110112.html HTTP/1.0" 200 7985
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0000 (regular expression)

gpooog
» JO000DOO0o0bo0bobooboboobooobbon

» D000 bo0obooboobooobooboobobooobooon
» D000 0oOOo0obooboobobooboobo

> grep, expr, awk, vi, lex, perl, ruby, ...

RubyOOOGOGQd

Regexp class

regular expression literal: /regexp/opt
=" operator: subject =" /regexp/
match() method: /regexp/.match(subject)
string class: string.match(/regexp/)
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RubyOODOOQOOOOOOoOOOOoO

[abc] A single character: a, b or c

["abc] Any single character but a, b, or c
[a-z] Any single character in the range a-z
[a-zA-Z] Any single character in the range a-z or A-Z
= Start of line

$ End of line

\A Start of string

\z End of string

. Any single character

\s Any whitespace character

\S Any non-whitespace character

\d Any digit

\D Any non-digit

\w Any word character (letter, number, underscore)
\W Any non-word character

\b Any word boundary character

(...) Capture everything enclosed

(alb) aorb

a? Zero or one of a

a*x Zero or more of a

a+ One or more of a

a{3} Exactly 3 of a

a{3,} 3 or more of a

a{3,6} Between 3 and 6 of a

19/26



RubyOOOODOODOOOOOOOOO (ODDOO)

options:

i case insensitive

m make dot match newlines

x ignore whitespace in regex

o perform #{...} substitutions only once

00000000000 (Dobooooooon)
ne0 0000000 e 02000000

/<.*>/.match("<a><b><c>") # => "<a><b><c>"
/<.%7>/ .match("<a><b><c>") # => "<a>"
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go: obbodgooobuogooobobbouoad
[

» JO0O000O0D0: WebOODOOODOOODO 1000
» 1g00bobobobobobobob
» JO0O000o0ogog
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lddddooooooooobobooboo

#!/usr/bin/env ruby
require ’date’

# regular expression for apache common log format
# host ident user time request status bytes

re = /7(\S+) (\s+) (\S+) \[C.*?)\] "C.x7)" (\d+) (\d+I-)/

timebins = Hash.new([0, 0])
count = parsed = 0
ARGF.each_line do |linel
count += 1
if re.match(line)
host, ident, user, time, request, status, bytes = $'.captures
# ignore if the status is not success (2xx)
next unless /2\d{2}/.match(status)
parsed += 1
# parse timestamp
ts = DateTime.strptime(time, ’%d/%b/%Y:%H:YM:%S %z’)
# create the corresponding key for 1-hour timebins
key = ts.strftime("%Y-%m-%dT%H")
# count by request and byte
timebins[key] = [timebins[key][0] + 1, timebins[key][1] + bytes.to_il
else
# match failed
$stderr.puts("match failed at line #{count}: #{line.dump}")
end
end
timebins.sort.each do |key, valuel
puts "#{key} #{value[0]} #{value[1]}"
end
$stderr.puts "parsed:#{parsed} ignored:#{count - parsed}"
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gnuplot script

» multipot DO OO OOO0OOO0OOOO

set
set
set
set

set

set
set

plot "time.

set
set

plot "time.

xlabel

"time (1 hour interval)"

xdata time

format

x ll%m/%dll

timefmt ")Y-%m-%dT/H"

multiplot layout 2,1

yrange
ylabel

yrange
ylabel

[0:1.8]
"requests/sec"
txt" using 1:($2/3600) title ’requests’ with steps

[0:1.0]
"traffic (Mbps)"
txt" using 1:($3%8/3600/1000000) title ’traffic’ with steps

unset multiplot
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040 0000000000000 (6/1)
» 0000

» 000000000

00 0000

0ooo
00:000000000000
001

vV v v Yy

26 /26



